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p. 1, line -14: TV(0) = Spec Al = [V((0)) = Spec R]
3, line 15: TR ®ytix] = T[Spec R DJtiL]
5,lined: Tp:Z—-XxgY] = [¢p:Z—XxgY]
6, line -10: Teopi]l = [Ipyoul

6, line-3: U, eU; #01 = [U;NU; #01

8, line 10 THEZMAMEMNTZEM] = [HEBEMTH S 2M )

B2

p. 11, line -9: (M’ wp/ ) HULT) = (M W) IZRL T

p. 12, line -11: Tpy =idl = Tpy = idy ]

p. 14, find 2.1.3 OFEHF OEX 1 1TH OREZIENZ I INZ 5 Hy(w(a, Hy)
= H,(w(a, H,))

p. 15, line -2:  [(z1,....,px,)] = T(z1,...,20)]

p. 16, line 13:  {p;,vi}] = [{p1,v:}!

p. 16, line -6: [H,, = 8%1 = IH, = G%J

p.- 17, line 8:

S SIS R

[v,w](8) = (=1)9v]d(w]0) — w|d(v]8) — (=1)v A w|db

[0, w](0) = (=1)7v]d(w]0) — w]d(v|0) — (~1)'v Aw|do
(—1)7 %& (1) IZETIET 3)

p- 17, line -1:
p+1—1¢ R
= Y fldoy A Adp A Adgy)da
1=1

=

p+1 4 )

=D (=1 f(day A A dag A A dag ) da

=1

p- 18, line 2:

= (=D)P 7O S (=1)PT T (day A Adi A A dag s )day)

= (=1 x> (1P (day A Adag A A dp ) A da)



p- 20, line -8:
T eD(X,N'Ox) = m e ['(X,A\?Ox)
p-23, line 6:
lg ZEFBV) -G D] = Tlg XEZEREE G D
p- 27 : line -5
L Ok GOEEE = [LOih &b RISy
p- 27,: line -3:
[0; = 9ij0u,1 = 10; = gi;0;]
p- 28, line 3:
raf " @ o)
DEAHD ) X
p. 29, line -1: p*L = O(p-1)- = p*L = O-1)x
p. 30, line 14: p*L = O, -1y« = p*L = O(,-1)x

p. 30, line 14: p? = p*0

3w

p. 36, line 13: TM/IN] = [M/IM]

p- 38, line -6:

V*w) — wy = eL,w
=
w*wM/Sl 7wM/51 = eLUw
p- 39, line 12:
wy —p*w =edn

=

wy — pFw = edn

p. 43, M (3.6) : MEGH ¢ & oo EANEZD.
p- 45, line 5:
M0(d{z,y} Ndz})+0(d{y, z} Ndx}) +0(d{z, 2} ANdy})] = TO(d{z,y} A
dz) + 0(d{y, z} Adz) + 0(d{z,z} Ndy)]
H4E
p. 55, line -4: [fiwx =wyl = [fiwy =wx]
p. 62, line 2: Tgi~'(y)l = Tg7'(y)I



p. 67, line -15: [0 € HY(X,\?0x) ZKTV Y 2XRT7MLELT]
=
0 € Hom(A%Qx,O0x) ZKT YV UHEEE L T)
p.70, line 11: [#HEEV—H G BV —8RH»] = ERI-H G DY —

DY)

p. 71, line -5: [dimO" = dimg — rankg — 2] = [dimO*" = dimg —
rankg — 2]

5=

p. 78, line -0: [#011 ... ¢ %) = e .. g0

. 82, line 16: TO(y) D s-x] = [O(y) Dris-yl

.83, line 13: [(j=1,....,d)] = [(j=1i1,...,0q)]

. 83, line-8 [ldim({a;}icrus) >d—11 = [dim({a;}icrus) <d—1J
.83, line -2:  T2b12b2 . pbmaypft wem ) = Tpbizhe . phmep$r L qpem )

. 84, line 8: [l 5.1.2 OFPEH» S = [ 5.1.3 OFFEH» S |
. 85, line -13: ISt NdimTep 1(0)) = [StNTeu1(0)]

. 85, line -10: TS+ NdimTyp=1(0)) = St NTeu=1(0)]

. 85, line -8 (2 f#ifT): [StNdim T t(0)) = [S+NTep 1(0)]

. 85, line -6: S+ NdimTypt(0)] = [S+NTep 1(0)]

.86, line 4: TV X duy 12&>T) = IS duyx i2&>T]

p. 86, line -12: THERKINBZ LM d-1UTET5.] = [EgIh

kol R o B oL ol c B o B o e B}

BB OGN d—1 AN E T 5.

p. 87, line 2: [zywsa; +---1 = Tziwia; +---J

$6=
p. 93, line 7: [ + (83 — 54)(353 —+ 354)J = [ + (83 — 54)(383 —+ 354) + -]
p- 93, line 8:

=57 — 52+ 252 — 255 + 352 — 357 + ...

:s%—s%+2s%—25§+38§—3si+...

p. 93, line -10: (Vl, Vd1—17 leJ = |—F1, Fd1—1; Fle
p. 93, line -9: line -10 X[k V;, Vi1 Lo TWBE T A% F, F;_; IZ

p- 101, line -2:
a(Ady(-)) = a(Adg-1(-))



p. 105, line -4: Tbu=u'b] = Thu' = ub]
p. 106, line 1: B=UT] = [B=UH]
p- 110, line -4:

G xB (B x%¢M) Zg(h) xBr (b + 1))

=

G xBr (h +ny,)

p. 119, line -2: MEE y: H - C izl Tl = MHEE x: H - C* 2
LT

p. 120, line -1:  Try, | = [(r; )*]

who

p. 125, line 10: [R7 VY 2 BRE] = TERT VY 2-RZ bLid)
BT
p. 128, & (7.3) &0 247 F: @5 L1 = TOy 5L
p. 129, line 2: Tl +e(v+ f;)] = [1+e(—v+ fi)l
line 6: AJHAXA D

Mte(v+£)) = MM+e(—v+f)]
line 8 DAKE:

rzz,
piob; = (14 ev)(0; + eL,0;) = 0; + e(vh; + L,0;)
MR D LD, — 7,
(I +e(v+ fi) ot = 0; + e(vb; + fi0:)
THDNH, ]
=
rzzc

0;0 @i = (1 —ev)(0; + €L,0;) = 0; + e(—vb; + L,6;)
MR D LD, — 1,

(L+e(—v+ fi)) o 0; = 0; + e(—vb; + fib;)
THHNG,]

line -6: Tl1+e(v+ fi)] = 1+e(—v+f)l
line -2: [0y DEDEI = [0y OEHDE]



p. 130, line 10, line 13: Hom(Q;, Oy) = Hom(Oy, Oy)

line -8: —QU(’U(), ) = —9U<[U0, ])

p. 131, line 6: w]d(0y)|r(-) = Ou([w,*]) = w]dOy|r(-) = =0y ([w,-])
p- 132, line -10:

©i.09 = Bi>095;

. 144, line 16: Tgx] = Tg*]

. 144, line -1:  Tg* ~D& ] = [P(g*) ~D4f)

. 147, line -9: TP(p*)(0)=0"1 = Tp*(0)=0']

. 149, line 2:

M EZEAbL] = HEgLds L]

p
p
p
p



